Questions about TIGER and LUT
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Il Simulation of the signal shapers o

Transfer function (from Fabio) + inverse Laplace transform => Response function (fixed)

Inputs ' Numerical convolution —
(any shape) with response function )

v Both T-branch and E-branch models are implemented within CgemBoss
v' Many tests show that results from the fast numerical convolution can reproduce very well the circuit simulation:
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11 Simulation of the sampling time in E-branch =150 ns for integ_time=5
or 170 ns?

Sampling time Tsampling = 4 - 6.25ns - (integ_time + 1)

Sampling duration given by integ time

* S&H peak detector configured and

calibrated for@ 170 ns peaking time

(integ_time = 5)

sampled, 6

* |f signals last longer than the design

specification (50 ns) the sampling time

/

. (integ_time) must be increased -

W

sampling

4 clock cycles steps (= 25 ns)
* Sampling start is given by the T-branch,

due to its better timing performance
Sampling start given by

T-branch discriminator

T

campling — Ec00rse — Teoarse_1 Obit

One slide from Fabio




I1s Thresholds from Look-Up-Table (LUT)

/bes3fs/cgemCosmic/data/CGEM_cosmic_look_up_table_from_10_to_17.root
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Definition?
Obtained by fitting charge distribution and then converted in mV?
Why there are negative ones?



11s E4,.-Q (charge) Calibration curves and saturations

ADC counts [ digits ]

Efine vs Q;, for 64 channels of one chip
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(From Fabio’s talk)
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Efine=O ~ Qsaturation= 'b/a

How were calib_QDC_saturation values obtained?

Fitting charge distributions?

calib_QDC_saturation
directly from LUT
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I1: What are the entries with invalid stripID?

strip_v_boss==-1&&strip_x_boss==-
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htemp
Entries 189
Mean 10.67
Std Dev 5.035
Underflow ()
Overtlow ()
Integral 180
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11 Other questions

o
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S ] = htemp :
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Time resolution?

Why many negatives? Where to find the meaning?

Add a little more information to README?



